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We write the fluctuation part of the free energy, given by Eqgs (39) and (40) of the paper in

the form
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where M, ; = M;,; and p = a/?k.
We recall the expressions for the cholesterol-dependent spontaneous curvature of the outer

leaf, Eq.(15),

O 170
HmHO _ Ysm

(apc — bpcyco)| , 0.25 < yci <0.6

(2)

= | ————(asm — bsmYco) + _rce
kgT Ysm + Ypco Ysm + Ypco

and for the inner leaf, Eq.(16),
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To evaluate the derivatives of the HY and H! with respect to the various mol fractions

y, we define the quantities
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where the overbar denotes the equlibrium value, and
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Here f; is the fraction of phospholipids in the monolayer of type i, that is
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Coicci = (fre)Qpr + frsQps

With the above definitions, and Egs. (5) and (6) of the text for p(yc), the matrix elements

are as follows:
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